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[_ Instruction J :

On the OMR Answer Sheet write the Registration No. and write & darken the circle/bubble of Roll No/Course/

Cuestion Booklet Set. No entry / wrong entry of the above will lead to cancellation of papers for which the candidate will be
solely responsible

Each question has four alternative answers, The candidate has to darken only one circle/bubble on the Answer-Sheet

using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer [ option is found
darkened, then the answer will be treated as cancelled.

OMR Answer-Sheets will be preserved for a period of six months only from the date of result publication.
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[hiestion Booklet Set. No eniry / wrong entry of the above will lead o cancellation of papers for which the candidate will be
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| Example: Correct Method: @O0 Wrong Method: 2 & @D J
Crate emefa Tea we ) AfEl e am ) 3% 3¢ = @O
S *ﬂﬁwﬁ‘m:nm'mﬂmﬂmamfﬁ
(A) 2Rt (U (B) B (U0 (C) CRf~@ 4 (1) %#1 (T
11 v CaTE! 0 B
HE WA _ ol
__ Sisa few (U0 A G R I O ZE
(A) et (B) wirarH (C) WAl (D) 2=
g i eE I o ma fafdE e ol =
(A) 5%, B, (5%, 7, Araa, HeiE, B9 (B) e, o5, i, Foe
(C) =G, Wi, S (D) w2, =, wiEAEs
g1 ‘v ons Al eiE SIIC3 TR A1gE AP 0 #fE e 2eTE T feEt o1 =0l
(A) TH-3Y 1 (B) #Re-3Y # (C) e=mia wesim (D) RS i

i 7w [ Taeg o=t #t
(i) G TR FAE farm fa=
(i) ST IR W= oje) iCe W+ TEF |
(iif) TS A GOSA A A
(iv) =M= ARE % wiaEm A fes e
(A) (1) 7=, (ii) e, (iii) 7, (iv) et (B) (i) 77, (i) 37, (iii) Foet, (iv) 7
(C) (i) 7, (ii) T, (iid) 71, (iv) =@ (D) (i) ¥, (i) 7, (i) flrgt, (iv) o

[urm Cheat
1181 1 “




NEP/AEC1/1st Sem./Only for Male/BNGHAE101T/BNGGAE101T/2024-25
® ; . i 2
VI v Ay fAdh i et ity SiaRe @ arca wre i Far e fee

(A) G (B) SerqIa (C) 4am (D) afar
5T (H(E A2 (@4
" Wﬁ%ﬁﬂﬂﬂﬂﬁw m. (B) cotteets cacal fcae
(C) »moifer v S AR (D) A= faca ciea @t zng
OOl B R, T e 1 — e <M1y A i G A1ty S Sfefba T g
(A) i 213 (B) S&aM I (C)ArEl MY (D) et arg
B S A O SIt %ﬁ%ﬁ%ﬁ%agﬁﬂgﬁ%ggﬁﬂ
o
AW,WMM. o, (B) 32™fS, @, =ify
(©) uﬂw, ﬁrﬂ &) (D) i, T, I
o1 gﬂa@éz@ﬂﬂﬂﬂﬂa@mﬂsﬁ@dw
(A) 2, Fiee (B) 23!, woagom fow
(C) a7, Foest (D) (o5, Fvz7y

B ST Fm aEE i,
T @ T “HHr .
lwﬁ_iw@%ﬁ@gﬁmaﬂ%%ﬁﬁmﬁ@@%x@aaﬂwﬁﬂﬁ%

. (A) 3% 33wl (B) e sRer () 9151 <Rl (D) a7 3wl
PRI T (I (A GO N5 TR e .
(A) comfefimaia digm (B) itz Irpe
(C) A== Siepm . (D) Ra¥iene vast
201 “L IR R wife
T [t Aipiet )
— QAT (T 7= = 99 AR
(A) ToiE (B) 3@t airg (C) T sy (D) ez i
381 ﬁﬁﬁ%qﬁ@aﬁ.ﬁﬂﬁﬁ.ﬁﬂﬂa%ﬂﬁf
(A) T, =1 (B) =6, 1716 (C) ot wyiey (D) 791, e
Sl A TR WA 51 2
(A) STREAR AR (B) (Sremiva; (o (C) Ricraveg G (D) cemifofer e
o1 e e 4 B,
gl worare
S 9 B13,
R 46 T b1 Al =)
— 3faer Taw e 7@ e
(A) =131y (B) S g (C) werzfd arg (D) s <1

SN eI -aa st A =

(A) Too fota — 37w wesjzem sy (B) ™! et argre — et s

L (C) T30 wen — el wes W (D) @ e — v et

B

mm_:

Py

20!

D

2

3







